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o om g 4w mlewwl 48170 | 582008 | 68120 | 7H17H | 84191
1| i #H L | 100 0 0 0 0 0
2 B PHED s | Bitan 3 | BiEn | iEh 3 [ isn$
3 RIY A K OZE DS W megL |0.003 — 0.0003 A1t — — 0.0003 A
41k R B O = © b & #| me/L | 0.0005 — 0.000057 — — —
51t v v B % @ik & % mgL | 0.01 — 0.001 A3 — — 0.001 A5
618h Kk O = o b A | meL | 0.01 — 0.001 A — — 0.001ATifi
Tl F kK O 2 o b A& ¥ megL |0.01 — 0.001 A — — 0.001 A5
8N i 2 = & b & | me/L | 0.02 — 0.002A7i5 — — 0.002 A7
9 [® 4§ B e = H| mgL | 0.04 — 0.004 i — — —
107 e+ kRO 7| mg/L | 0.01 — 0.00 1A — — 0.001ATif
11 [y M fe 25 % % OF @Y R B % | me/L | 10 — 0.5 — — —
1207 v & & 002 @ b & | met | 0.8 — 0.32 — — 0.28
131k 7 % Kk " %2 © b & B me/L | 1.0 — 0. 1 A5 — — 0. 1At
14 |1y i ik 5 #| me/L | 0.002 — 0.0002Ti — — 0.0002 A7
15|1,4- ¥ # % % | mg/L | 0.05 — 0.005 A7 — — 0.005 A7
6| 22 RN R T Y e 00a | — o004kl | — — | 0.0045ki
17 7 0w om % % | mg/L | 0.02 — 0.002 A5 — — 0.002 A5
8|7 v % 7 22 = F L v mgL |0.01 — 0.001 A — — 0.001 A5
19~ v 7 2 m = F L ¥ myL |0.01 — 0.001 i — — 0.001Aif
20 [~ v ¥ >| mg/L | 0.01 — 0.00 1A — — 0.001ATif
21 |t e k| me/L | 0.6 — 0.06 A — — 0.14
22 |2 = = e il me/L | 0.02 — 0.002 A5 — — 0.002 A5
2317 9w wm K A Al mgL | 0.06 — 0.004 — — 0.005
24l 7w owm | me/L | 0.03 — 0.003 A3 — — 0.003Aif
%l 7 v ® 7 v um A X 2 mgl | 0.1 — 0.001 K73 — — 0.001
26 |5 # M| me/L | 0.01 — 0.001 A — — 0.001 A5
o7l U o~ o m o2 & v mgL | 0.1 — 0.006 — — 0.009
28I UV w v FE EE| me/L | 0.03 — 0.003 i — — 0.003 i
29|17 v = ¥ 7 o owu % & o mgL |0.03 — 0.002 — — 0.003
07 = = & mg/L. | 0. 09 — 0.001 A — — 0.001ATifi
31|&x &+ & 7 A F kb K| mgL |0.08 — 0.008 AT — — 0.008 A7
20H & K O F o b & | megt | 1.0 — 0.05 A3 — — 0.05 A7
BITAI=T AR OZE DA W mgL | 0.2 — 0.02Aif — — 0.02Aif
Ml Kk O = o b & | mgL | 0.3 — 0.03 A3 — — 0.03 A7
3B K O = o b & | mgL | 1.0 — 0.05A 73 — — 0.05 A7
36|77 FU Y A KD DA A W mgL | 200 — 6 — — 5
37|~ v v B % ®{t & | meg/L | 0.05 — 0.005A i — — 0.005A7i
38l b w4 A | mgL | 200 4 3 3 4 3
9 vy a, w7 kv n% (EE)| mg/L | 300 — 35 — — —
40 |74 7 b33 ¥ ¥ meg/L | 500 — 66 — — —
411k 4 A v o IF M Al met | 0.2 — 0.02A 5t — — —
42 1> - 7 2 N | mg/L | o0.00001 — 0.000001 A ¥ — — —
4312 — AF )V A4V R )V X A — )| mg/L | 0.00001 — 0.000001 A3 — — —
4413 4 A& v Fom I M Al me/ | 0.02 — 0.002 A i — — 5 ATt
4517 = 2 — 4 M| me/r | 0.005 — 0.0005 A4 — — —
46|15 K& m ( TOC » & )| megrL | 3 0.4 0.4 0.6 0.4 0.4
47 o H fit oy 7.6 7.5 7.4 7.3 7.4
48 S O BERL | BERL | BERL | BERL | BEL
49 | & SO BEeL | BEL | BEALL | BEeL | BERL
50 | Bl 5 IEST LA LA LA 1A i
51 | O 2 0.1 | 0.1 | 0.1 | 0.1 | 0.1AK7W
% 5 i #| me/L |0k 0.3 0.3 0.2 0.3 0.3
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40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
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21 | # fiZ| mg/L
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23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
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